oW OF R B 2 ® & 8 Mo &2 4 112 % & R BRI L E A %

111.10. 19 )% 3Az § R i6
111 11,09 7% § i 6

111,11, 29, Fegidz § 3k % kL 6

11112, 13, fesdz § R 2 111,12, 22, Top 30ih 6 R B L8

11312548 %424 | € k2 113‘12.24.‘?’;@?*?'(7?2-5 FRBRBITUE
y-8= EE y-8= R g
IETHEET] IETIEET] IETRIEELL IETREETL]
LI P v 5 P o Pt I P P v R o P v P s B oL B P e e P e
| Gk HENEIE BEANEIR |V | v
D)
= (-) 3[3]0 gi2ai(-) [2]2]0 gz iv(-) [2][2]0
B (2) 3(3[0]gieraac) 2[2]0[ge s o) 2]2]0
A-E2(-) 20210 Fprgd (-) |1[1]0 el @igAs [2(2)0
Lo E=2 (D) 2 [2]of#mrEy () AN E 2]2]0
v k(- 1[1]o s#E¥) [1]1]0
#2 (o) 1105 #&%(C) 1]1]0
MY () 0[2]o0 w7 (2) 0[2]o0
W7 (Z) 02|08 (2) 0[2]o
3 6/8lof6]8]o])z 4]6lol4al6lo] )3+ 4]4lo0l4]4]0
L (58 EA)

A (<) 313/0 1iEEg(-) [3]3]0 R (-) |13[3(0 B AeRs(=) 103
BFS 3/3]0 Ty 31310 2 HEC) 31310 W feRsR() 1103
1 RR Y 1/0]3 W AERS(-) 1|03 et 313]0
T e gm (103 4 F(-) 3/3|0 R R 103
B A () 33|10 |®is 3[3]0 A E(-) 3/3]0
ERE HENEETTIED 3[3]o0
HELAE 81 42 3(3(0|m*e38(-) 3|30
T rEEE. 1]0[3]@is 3[3]0

k4 F(-) 313]0
13 8l6|6[10[9[3[13 13[12[3[12[12] 0 |} 3+ 10[9(3]3[3][0]r3 1{o]3]1]0]3
4 N Sigfp B A/ S gAY/ S B
ST EAIFE1414) 6 |16(17)3 |7 4 17|18 3 |16/18/ 0| 1 W1I3|7|7101" 4k 1/0|3|1|0|3
LEEB D
Pk 3[3[ofmee ne [3]3]0 acgsw s [3]3]0
e BT 3[3[o[m* mE@g [3]|3]0 b5 3[3]0
Al A E S H T el b1 fe TR
% 31310700 3|30 K1) 3(3/0
szgl'LﬁW‘ SsofngK“? 3(3]0 ;ﬁg’hgis 3]0
EYETETE 3[3[0|# 2 s mstar (330 Fmetq [3]3]0
frm 3[3]ol##4 #(-) [3]3]0 R kst |3]3]0
Y 3[3]0 & st 3[3]o0 “Hatrdm [3]3]0
e 3[3]o[z 22z ~147 [3]3]0 # % £ Rl 313]0
& EF Ty 3|a|o @7 B2 &[54, =z B A5,
i * Vs E
BB iE 3[3[0[¢k# mal+ex [3]3]0 koo & 3/3]0
R H2E 3 3[3[o]~¥7 28 [3]|3]0 e 3/3]0
BRE 3|30 |2C B HF 5300 ﬁ}? FEHEH 5150
PR E i
g g 3[3|0]# i 3/3]0 etk (330
CAE %% 3[3]og mwe s [3]3]0 1ans  |3]3]0
i %
ff:ffgﬁi 3|30 LY A 43030
Tgggse  |3(3]0 TR R 3/13/0
3 %188 [3[3]0

X ¥




Bz v F #£ & ~ 5 & e & § 112 5 & B $ # 212 £ 5 5 #
TL10.19 )t it § Kt 16
111.11.09 s 7% § 3L &
111.11.29.Beikfe § 3% % 3R L 6
111.12.13.f’23<ﬁ§_§ *E 111.12.22.900% ¥ir § EX ]
# - 8= - EHEEN 2 EH I 2
p B T E g By | TEY B | TRY 2EY | THEY
pe . e e . B 7 pF . e 5 pF . i & pF
W (i 1%, B RNy il Inntine (il ke
S L LS P pls LS i Biy LS A Biy LS S Biy LS e Biy LS ~ = L ™ = ?
| | ¢ | ¥ ANEIR A ER Gakd |
LEFEBHP
|2 M 2 4 el
%J:l s t—ﬁ&fﬁ-r/& 330 ;Bfr?tl)lﬁlh'b /éP 31310
¥ ATEX ¢
EUREE L R AT Iy s
313|0 , 3(3|0
252t EEE P
1 EHRPy 1 E Bl E
£ 7 3(3)0]5 3(3/0
e 1A% 3(3|0
M B Eid 3[3]0
L 3|3|0|pa1 i 3/3|0
B 3|3|0[Frxatesh 3|3|0
#4 8 (2) 3[3[o]iie 14 3]3]o
E WL N FE e 2
e 3|3lo|s FHEAR 3/3(0
17 4
R B 33|04 st s 313(0
A 3[3|0igipmm 3[3]0
T fihde 1 HogF 3|13|0|x1 232 31310
“*‘-‘ - 'L’_’E"
5 y R 3|3[0| i s 3|30
i PC Based #741 AHEHHAF 3|30
A E 313|0 | #thzBir 3|30
#ci= IC 4 7% 3130 |#i4l 3|30
VAR AE 313|042 ¥+ Biush 3|30
N 33|04 & £ 3|30
M= A5 PR 3|3|0|s&Ep M4 & 3[13]0
MATLAB # # s ] ea
41t 3(3]0 f;_ R 3|30
. i
e -\ 2T o 4y B o2p 2L
Llava 238 3|a|o|ff BT 3|30
P RRE - -
3(3|0
3(3|0
3(3|0
3(3|0
LR A/ P 4] 20 |[16] 20 17| 21 |16] 18 4] 16 [7] 7 1] 3 [1] 3
BMERH D F A/ Pk 0 0] o0 0] 0 [3] 3 3| 3 [12] 12 15 15 |12] 12
BB R it 4] 20 |[16] 20 17| 21 [19] 21 17| 19 [19] 19 16] 18 [13] 15
C B ¥ 01318~ (L2868 A E1 A5 BA(RY I R h b EEE 30 EA)]
s S CRLATR S A “*Pi)”’ CREBY 3R »Eﬁ‘;%v& g "‘Li > 4§/,> °
== SRR G R A By o 5 TSR )
T LR RR Y R ER RS U R RS wirﬂ% NS D3 A T LU L
BREWB LT AL FP RN BTG BFERE AN I RBE S L -




